0

TEACHERS

GOVT. OF NCT OF DELHI addaavi
Delhi Subordinate Services Selection Board
FC-18, Institutional Area, Karkardooma, Delhi - 110092,
Wt e e v www.dsssb.delhigovt.nic.in

[Participant ID
Participant Name

Test Center Name

Test Date 03/07/2021

Test Time 2:00 PM - 5:00 PM
Subject PGT-Hindi (Female)

Q.1 3iyE 31U+ gIfgt ok 7 w1 AR gR & Heg T U0l ohedl g1 afe A & gt 33 aafh 33
¥, @ @ & TT¢ SR A iE= hi arafan [Rfa @ ofi?

Ans X" 1.10th
/X 2.17th
o 3.24th
/X 4.18th

Question ID : 60092911070

Q.2 Fafaf@e sma d, of afgensi @1 ufafafdw w=ar g,
1S f@efaal s ufafafde ar @ ok emua Sieter
afgenaeil a1 ufafafde war @ St s 98l Dl & ik 3l

B HI 1
J/ F
[¢/ e \
SRNEH %
Ans X' 1.6
K 2F

5 3.
W 4H

Question ID : 60092911077 ]



Dhruv Vashisht
Stamp

Dhruv Vashisht
Stamp


Q.3 fm=faf@e usr d, 39 snepfar (X) o1 991 & w1t uet siepfa | (9 foig & === Y a9 ol &t

Ans

ORT et g1

:

Ko

>

(%)

Question ID :

60092911081

Q.4

Ans

&qwﬁm’fﬁaaﬁﬂwﬁﬁaaﬂ%amﬁl
39 fehe &1 989 62 Sit 3T | T &l

75 1. e A
X 2. S el
o 3. wawn : Reh
75 4.9 R

=t

Question ID :

60092911065

Q.5 awR A gk e Y 3 32ART & g, AT 3 g, "Ik AT & Fehedta 92 i FE) @t ufa &=

Ans

SIS &1 39 afwh & e omuT § 6 Haifda 82
X 1o
75 2. v ot ré
/X 3.
VR

Question ID :

60092911071




Q.6 UM H, Ueh YA & T1¢ &t s | 3R 11 g 71w &1 smuent ag a h=Ar & foh = & fAseped
SITERYT el &1
HY: i STT G TR2AT AL, At H Suh! s
- Qeh T 31ue &=t <ht AdTast a1 81
fArsentf:
1. AaTaht & e TET I@ URRAT HAT &G R I
1. T 319 O Rt URATT SR @I
Ans X" 1. el | SIEROT el &

7 2. e || SERT SRl B
25 3.1 3R 11 2T srgeR ahea @

o 4 @t ian i s aRar &

Question ID : 60092911072
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Q.13 Select the option that is related to the third term on the same basis as the second term is
related to the first term.

Dance : Choreographer :: Football : ?
Ans X" 1. Lecturer

x 2. Professor

“ 3. Coach

x 4. Principal
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Section : General Awareness
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Question ID : 60092911096

Q.4 The headquarters of Organisation for Economic Cooperation & Development (OECD) is
located in

Ans X" 1. Geneva

X 2. New York

x 3. Vienna
( 4. Paris
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Q.11 is the uppermost layer of the atmosphere.
Ans X" 1 Mesosphere

x 2. Stratosphere
“ 3. Exosphere
x 4. lonosphere
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Section : Arithmetic Ability
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Tt BT "ehdT g1 Tfe 19 &l Ueh IR J dhadl Teh g1 IR TAT ST Hehell @, dt 918U A hl e 6
# fohat famre & forg @t anfge aifs g ofik ur=it &t srgquma 5:1 817

Ans  of 1 48
/X 2.45
/< 3.54
X 4.51

Question ID : 60092911116

Q.5 SR TGS I ST chi HEAT T &ATaT & it 4 a6 &
foram afE 2018 & 3Ry A wgfere™ 6 d@=ar 600 of, a’tzo193wmﬁqgrhamaﬁrm
<A oft?

Ans X 1680

/X 2,660
of 3670
75 4.650
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Q.12 5,00,000 ¥UT &k hY 31T -+ &1 10,00,000 FUT e, 5,00,000 FUT F FR Fi 31 71 10%
TR &R T ST & 3R afE e 10,00,000 $UT & 3ifdek &, 1 10,00,000 U & 3ifdeh fi s
& fog &R 3R 20% &1 afe X &t 3 15,00,000 FUT &, Y ST 34 a1 foha=r ufaderd, & & &u
# sprar frar sTgm?

Ans  of 1 10%
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T & 31k 900/7 Kmph U= farm sar &1 amn & € g8 3ima )

Ans X" 1720 kms
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/X 3.736 kms
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Question ID : 60092911114

Q.14 geh axg A frsht wr g &1 @t 5 11 & 1pon foar st @ af Rkt g 7 150% &t gf gt 81
oA |19 vfaRra ad &’

Ans  of 1 60%
X 2.75%
/X 3.90%
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a Question ID : 60092911108

Q.15 ek HUETa # Arcarfges a1 & e1 900 3R HedATgia UR 1T 1800 SHFigeh 3 &1 af 1
EER o AFER &, at TGeR & ATige! o & siva dwear ara &R

Ans X" 11040
o 2.1200
75 3.1140
X 41110

Question ID : 60092911104

Q.16 3 HEATSHl T ART 262 &1 UG HEAT ol TRt HE&AT & IUT 4:5 § 3R T = & et
AT § SguTd 9:10 1 g W& A1 1

Ans J1‘90
/X 2.45
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Q.17 HIYRYT g1 UR 7 9 | AfA 7 63% Y iy gt &1 3+t &= = 2 g a1 40,000 Fug & fog
Tshqfeg; sATST T gIT?

Ans  of 1 752439
75 2.3762 3uy
/<5 3.11286 3uy
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Q.18 smgafas fafdra auf & forg faeht 321 & fag FDI ($ faferm= ) &t qarfar 81 fore af & forg
uRed= &t &2 siftrerad &7
Ans  of 120182019
75 2.2019-2020
/X 3.2016-2017
75 4.2015-2016

Question ID : 60092911120

Q.19 A, B 3R C fAeTehe ek i it 10 T & o1 et €1 A Srchet 39 o opt 20 1Y & e TeherT @
3R B 31ehet 39 ki aht 40 2T & R GehaT &1 C 31ehet 39 hiH ohi fohd=t =1 & e Tepar 87

Ans X" 120
K 2.25
o 340
X 410

Question ID : 60092911115

Q.20 Qeh A1 3MThR & MAATHRR g1 1S a1 faerof 8v13 cm & 3R 3HeRT &51thel 736 sq cm &1 a1t &t
gRATg AT 1

Ans X" 1.48cm
xz.24cm
75 3.72cm
o 4.96cm

Question ID : 60092911118

Section : General English
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Q.1 Select the most appropriate meaning of the given idiom.

Go the extra mile

Ans x 1. Compromise, cooperation between people
( 2. Going above and beyond whatever is required for the task at hand
X 3. Source of irritation

x 4. To gamble everything you have

o,

Question ID : 60092911134

Q.2 Select the word that is opposite in meaning (ANTONYM) to the word given below

Opulent
Ans ( 1. Sparse

#< 2. Prolific

x 3. Abundant
x 4. Affluent

Question ID : 60092911129

Q.3 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentence.

The allure of the show comes from
P. parties to Hollywood

Q. the truly unique cakes the staff produces,
R. providing whimsical creations for

S. everything from children's birthday
movie premieres. a a
Ans X" 1.QSRP

/5 2.QPSR
75 3.QPRS
o 4 QrspP

Question ID : 60092911128

Q.4 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X" 1. Renumeretion
x 2. Remunaration
x 3. Renumaration

J 4. Remuneration

Question ID : 60092911131
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Q.5 Fill in the blank with the most appropriate choice.

If you have a shy cat that tends to be , you will need to do more preparation to
ease the transition of sharing life with a new baby.

Ans X" 1 ethereal

x 2. resilient
( 3. reclusive

x 4. enhanced

Question ID : 60092911127

Q.6 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

The next class of wave or oscillation detector is the magnetic detector depending upon the
power of electric oscillations to effect the magnetic state of iron.

Ans x 1. is the magnetic detector depending upon the power

x 2. No error

( 3. of electric oscillations to effect the magnetic state of iron.

x 4. The next class of wave or oscillation detector

Question ID : 60092911123

Q.7 Select the most appropriate ‘one word ' for the expressions given below.

An ability to express oneself well in speech
Ans J 1. Oracy

x 2. Orthodox
x 3. Versatile
x 4. Foresight

Question ID : 60092911135

Q.8 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X" 1 Ingraiate
x 2. Ingretiate
x 3. Ingratate

J 4. Ingratiate

Question ID : 60092911132




Q.9 Select the most appropriate ‘one word ' for the expressions given below.

A person who leaves his country to settle in another country
Ans x 1. Dilettante

x 2. Egotist

X 3. Effeminate

J 4. Emigrant

HEN
~N

Question ID : 60092911136

Q.10 Fill in the blank with the most appropriate choice.

Itis easy to greatly the barrenness of an arid country.
Ans X" 1. subvene

J 2. exaggerate

x 3. convene

x 4. accentuate

Question ID : 60092911126

Q.11 Select the word that is opposite in meaning (ANTONYM) to the word given below

Perfidious
Ans X 1. squeamish

( 2. Loyal
x 3. Careless

x 4. Unworthy

Question ID : 60092911130

Q.12 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

One notable fact you'll see when you first encounter this deck is that there are additional
symbols on both (the Major and Minor Arcane cards that are not found on other decks).

Ans x 1. the Major and Minor Arcanum cards that are not found on other decks
J 2. major and minor arcane cards that are not found on other decks
x 3. the major and minor Arcana cards that are not found on other decks

x 4. No correction required

Question ID : 60092911124




Q.13 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

Felipa left Carmen at the foot of the stairs, striding of without another word.
Ans X" 1. of the stairs, striding

x 2. Felipa left Carmen at the foot

x 3. No error

J 4. of without another word.

HEN
Qo

Question ID : 60092911122

Q.14 Select the most appropriate meaning of the given idiom.

In the long run

Ans x 1. Overwhelmed by what is happening in the moment

x 2. To have something secured
J 3. Eventually, after a long period of time

x 4. Before the time necessary to do something

Question ID : 60092911133

Q.15 Select the word segment that substitutes (replaces) the bracketed word segment correctly

and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

That was the end of the conversation and (neither of them didn't bring up the subject again
that night).

Ans x 1. either of them didn't bring up the subject that night.

x 2. No correction required
X 3. either of them brought the subject up again tha a

( 4. neither of them brought the subject up again that night

Question ID : 60092911125




Q.16
Ans

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

You know that you're doing something big when your company name becomes a verb. Ask
Xerox. In 1959 they created the first plain paper copy machine. It was one of the most
successful products ever. The company name Xerox grew into a verb that means "to copy,” as
in "Bob, can you Xerox this for me?" Around 50 years later, the same thing happened to
Google. Their company name grew into a verb that means "to do an internet search." Now
everyone and their grandma knows what it means to Google it.

Unlike Xerox, Google wasn't the first company to invent their product, not by a long shot. Lycos
released their search engine in 1993. Yahoo! came out in 1994. AltaVista began serving
results in 1995. Google did not come out until years later, in 1998. Though a few years
difference may not seem like much, this is a major head start in the fast-moving world of tech.
So how did Google do it? How did they overtake their competitors who had such huge leads in
time and money? Maybe one good idea made all the difference.

There are millions and millions of sites on the internet. How does a search engine know which
ones are relevant to your search? This is a question that great minds have been working on
for decades. To understand how Google changed the game, you need to know how search
engines worked in 1998. Back then most websites looked at the words in your query. They
counted how many times those words appeared on each page. Then they might return pages
where the words in your query appeared the most. This system did not work well and people
often had to click through pages and pages of results to find what they wanted.

Google was the first search engine that began considering links. Links are those blue
underlined words that take you to other pages when you click on them. Larry Page, cofounder
of Google, believed that meaningful data could be drawn from how those links connect. Page
figured that websites with many links pointing at them were more important than those that
had few. He was right. Google's search results were much better than their rivals. They would
soon become the world's most used search engine.

SubQuestion No : 16
According to the passage, which of the following statement is incorrect?

x 1. Xerox launched a product in 1959, plain paper copy machine, which was one of their
most successful products ever.

« 2. Google pecame the only second company whose company ndline was li§ed as a
verb.

x 3. Larry Page the co-founder of google, was the p Q e s
could refine the search results greatly.

X 4. Lycos was the first search engine which was released in 1993.

HEN
©

Question ID : 60092911141




Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

You know that you're doing something big when your company name becomes a verb. Ask
Xerox. In 1959 they created the first plain paper copy machine. It was one of the most
successful products ever. The company name Xerox grew into a verb that means "to copy,” as
in "Bob, can you Xerox this for me?" Around 50 years later, the same thing happened to
Google. Their company name grew into a verb that means "to do an internet search." Now
everyone and their grandma knows what it means to Google it.

Unlike Xerox, Google wasn't the first company to invent their product, not by a long shot. Lycos
released their search engine in 1993. Yahoo! came out in 1994. AltaVista began serving
results in 1995. Google did not come out until years later, in 1998. Though a few years
difference may not seem like much, this is a major head start in the fast-moving world of tech.
So how did Google do it? How did they overtake their competitors who had such huge leads in
time and money? Maybe one good idea made all the difference.

There are millions and millions of sites on the internet. How does a search engine know which
ones are relevant to your search? This is a question that great minds have been working on
for decades. To understand how Google changed the game, you need to know how search
engines worked in 1998. Back then most websites looked at the words in your query. They
counted how many times those words appeared on each page. Then they might return pages
where the words in your query appeared the most. This system did not work well and people
often had to click through pages and pages of results to find what they wanted.

Google was the first search engine that began considering links. Links are those blue
underlined words that take you to other pages when you click on them. Larry Page, cofounder
of Google, believed that meaningful data could be drawn from how those links connect. Page
figured that websites with many links pointing at them were more important than those that
had few. He was right. Google's search results were much better than their rivals. They would
soon become the world's most used search engine.

SubQuestion No : 17

Q.17 In which year was Google launched?

Ans

X 1.1993
o 2 1998

X 3.1994
75 4.1995 a a
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

You know that you're doing something big when your company name becomes a verb. Ask
Xerox. In 1959 they created the first plain paper copy machine. It was one of the most
successful products ever. The company name Xerox grew into a verb that means "to copy,” as
in "Bob, can you Xerox this for me?" Around 50 years later, the same thing happened to
Google. Their company name grew into a verb that means "to do an internet search." Now
everyone and their grandma knows what it means to Google it.

Unlike Xerox, Google wasn't the first company to invent their product, not by a long shot. Lycos
released their search engine in 1993. Yahoo! came out in 1994. AltaVista began serving
results in 1995. Google did not come out until years later, in 1998. Though a few years
difference may not seem like much, this is a major head start in the fast-moving world of tech.
So how did Google do it? How did they overtake their competitors who had such huge leads in
time and money? Maybe one good idea made all the difference.

There are millions and millions of sites on the internet. How does a search engine know which
ones are relevant to your search? This is a question that great minds have been working on
for decades. To understand how Google changed the game, you need to know how search
engines worked in 1998. Back then most websites looked at the words in your query. They
counted how many times those words appeared on each page. Then they might return pages
where the words in your query appeared the most. This system did not work well and people
often had to click through pages and pages of results to find what they wanted.

Google was the first search engine that began considering links. Links are those blue
underlined words that take you to other pages when you click on them. Larry Page, cofounder
of Google, believed that meaningful data could be drawn from how those links connect. Page
figured that websites with many links pointing at them were more important than those that
had few. He was right. Google's search results were much better than their rivals. They would
soon become the world's most used search engine.

SubQuestion No : 18

Q.18 Which company's example has been given, for the company's name become a verb apart

Ans

from xerox?

x 1. Skype

x 2. Uber
( 3. Google a a
x 4. PayPal
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

You know that you're doing something big when your company name becomes a verb. Ask
Xerox. In 1959 they created the first plain paper copy machine. It was one of the most
successful products ever. The company name Xerox grew into a verb that means "to copy,” as
in "Bob, can you Xerox this for me?" Around 50 years later, the same thing happened to
Google. Their company name grew into a verb that means "to do an internet search." Now
everyone and their grandma knows what it means to Google it.

Unlike Xerox, Google wasn't the first company to invent their product, not by a long shot. Lycos
released their search engine in 1993. Yahoo! came out in 1994. AltaVista began serving
results in 1995. Google did not come out until years later, in 1998. Though a few years
difference may not seem like much, this is a major head start in the fast-moving world of tech.
So how did Google do it? How did they overtake their competitors who had such huge leads in
time and money? Maybe one good idea made all the difference.

There are millions and millions of sites on the internet. How does a search engine know which
ones are relevant to your search? This is a question that great minds have been working on
for decades. To understand how Google changed the game, you need to know how search
engines worked in 1998. Back then most websites looked at the words in your query. They
counted how many times those words appeared on each page. Then they might return pages
where the words in your query appeared the most. This system did not work well and people
often had to click through pages and pages of results to find what they wanted.

Google was the first search engine that began considering links. Links are those blue
underlined words that take you to other pages when you click on them. Larry Page, cofounder
of Google, believed that meaningful data could be drawn from how those links connect. Page
figured that websites with many links pointing at them were more important than those that
had few. He was right. Google's search results were much better than their rivals. They would
soon become the world's most used search engine.

SubQuestion No : 19

Q.19 Which was the first company to launch a search engine?

Ans

x 1. Google
?{ 2. Yahoo!

« 3. Lycos
x 4. AltaVista a a
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Q.20

Ans

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

You know that you're doing something big when your company name becomes a verb. Ask
Xerox. In 1959 they created the first plain paper copy machine. It was one of the most
successful products ever. The company name Xerox grew into a verb that means "to copy,” as
in "Bob, can you Xerox this for me?" Around 50 years later, the same thing happened to
Google. Their company name grew into a verb that means "to do an internet search." Now
everyone and their grandma knows what it means to Google it.

Unlike Xerox, Google wasn't the first company to invent their product, not by a long shot. Lycos
released their search engine in 1993. Yahoo! came out in 1994. AltaVista began serving
results in 1995. Google did not come out until years later, in 1998. Though a few years
difference may not seem like much, this is a major head start in the fast-moving world of tech.
So how did Google do it? How did they overtake their competitors who had such huge leads in
time and money? Maybe one good idea made all the difference.

There are millions and millions of sites on the internet. How does a search engine know which
ones are relevant to your search? This is a question that great minds have been working on
for decades. To understand how Google changed the game, you need to know how search
engines worked in 1998. Back then most websites looked at the words in your query. They
counted how many times those words appeared on each page. Then they might return pages
where the words in your query appeared the most. This system did not work well and people
often had to click through pages and pages of results to find what they wanted.

Google was the first search engine that began considering links. Links are those blue
underlined words that take you to other pages when you click on them. Larry Page, cofounder
of Google, believed that meaningful data could be drawn from how those links connect. Page
figured that websites with many links pointing at them were more important than those that
had few. He was right. Google's search results were much better than their rivals. They would
soon become the world's most used search engine.

SubQuestion No : 20

What feature made google different from its competitors back in 1998 when it was first
launched?

( 1. Google's search engine began considering links.

x 2. Google's did not rely on the words used while looking for results.
X 3. Google's search engine results were faster thaaral a
x 4. Google's search engine results much better th .
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Q.2
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Q.13 "@loid & GiaR &, g3 Telt g2 nitg A1 3 M) 31 am W, 3rmaet) & Bt #11
suehl 74 Atg- o3, atgd Hr am st Mg aret & 3R awft s o= a1 # Rie-ar 8 82

Ans 1 wum
o 2. i
X 3w
X 4. <

Question ID : 60092911288

Q.14 #AeYRUT fREeRT HIea TUE 82
Ans X1 mare

75 2. e

o 3. srrach =or

/X 4.da

Question ID : 60092911296

Q.15 & ERehell g1 -, fieT R A SRy &1
AT, 19, AT - faufoed, g &t & g 9 911 | i=-ar 39 RAfga &2

Ans X1 dzzm
X 2e=

W 3 T

X 4. qiazE

Question ID : 60092911293




Q.16 "@R T HE AR TGN K & FAT foRTared! §1" A FiF-471 SR 87

Ans X 1. %Y iR
/X 2. 3l iR
\f&@ﬁﬂﬁﬁ
/X 4. gue IeteR

Question ID : 60092911285

Q.17 IuMI=hISH & A7 # Tertfur AT &R, 39+ G g1 & forg Si=-a1 == glar &2

Ans (134—:5-;;1%31-@
75 2. denfie e
/X 3. guAE e
25 4. senfie o

Question ID : 60092911298

Q.18 3MfAUY & UR T=-Tie- o 321 fraht ufwh &2

Ans X" 1 e Bordt
/X 2. gReiRmE T
7 3.z s
o 4 merdt

Question ID : 60092911284

Q.19 Rt du aRwz &t =ma=n wa gs of?
Ans  off 1 458 1966

75 2.4 1966

75 3.1, 1966

/X 4. 458, 1956

adda

Question ID : 60092911303

Q.20 T <l dg deh SITh: S8 Jdg U= 19 AT ISR e bl §H T shgd &7

Ans  off 1. rcht TR
/X 2. At TR
75 3. anfifen umeTRaT
75 4. gror gaeRTRar

Question ID : 60092911301

Section : Discipline8




Q.1
Ans

X 1. ReEFaga
W 2. 5= e
X 3. e gt
X 4. i gem

Question ID : 60092911320

Q.2
Ans

9 & o fammue e a1 = o g 82

2 1. AR A e R et e @ Qe Y SR @il ek UgE

X 2. 3euTe &l @i & we A R s & forg

27X 3. i & 5 AR o gid A & forg

o 4. e Soe & TERTeT adt & e e |

Question ID : 60092911304

Q.3
Ans

"siemT” fohe Areafae & siafe smar 82
o 1. fifETe
X 2 vega
3 wum
X 4w

Question ID : 60092911310

Q.4
Ans

T ATREGTeh I HuTes e fra= famar?
#< 1.7
< 2. FerATy ST
5 3. zmfder e

W 2w

adda

Question ID : 60092911318

Q.5
Ans

fAr=fafaa & @ 19 "Uy" IR w1 i gl 82
X 1. wreR A
o 2. iRk wErer Rig
Xs.ﬁﬁa@nﬁmvy
< 4. Ry

Question ID : 60092911311




PAGE 59
Q.6 F=faf@e & @ wi=-a1 swwor 74 1 ARl 82
Ans X1 srga
5 2.4
v s e

/X 4. e @

Question ID : 60092911319

Q.7 "3 g W s’ fora i i i &2
Ans X' 1. el Sarea

o 2. vaia sharera

#< 3. %z sharaa

X 4. et sharea

Question ID : 60092911315

Q.8 "H HeuT & T ol HIH TIT T AT " fFTent o 8?7
Ans  off 1 gftEric ua

/X 2. Afdeharor g

/< 3. 0w

25 4. Srad e g

Question ID : 60092911321

Q.9 fafia RrmTu= fonst et ST 82
Ans X" 1. St forsiTo I, HeSTRIEA QYT Sfed TR g a

75 2. <t Rieiye, YeTve, SusHi<h FHTSt o Siiad ©R &
of 3. ivreen sicier T wu @ onfifes fafafirat @ e @
75 4. S e HTe, SueRoT AT &Y o A g & I2ed A BT @

Question ID : 60092911306

Q.10 Fr=fafEa # @ wi9-dt sietas gfa fsrada TR0 9 6i 82
Ans  of 1 smrh

/X 2. Tt

X 3.

p RCE

Question ID : 60092911317




Q.11 & 91 “E& wsrepRan feaw” e w=ma Siren 82
Ans o 1 30w

X 2. 1mEw

X 3. 55F@

X 430 F®R

Question ID : 60092911307

Q.12 =R dE= &Y 9o Seft et gt =nfag?
Ans X" 1. gHTEER 9 GETARER HTWT

o 2. o=, gatu g amad

75 3. fREaHieT

/X 4. 9gd grars

Question ID : 60092911305

Q.13 eFefieers St A arus 7T J T & S U @1 qof+ foman 8, ag Far @?
Ans X1WW

/X 2. R R A A ATl

#< 3. <A B T e ey

o 4. frfor, Friar

Question ID : 60092911323

Q.14 "<hrem AT & FRAGIAl & FUR I6eh IS hl IGIE T |
Ans  off 1.z geTared

7K 2. e gerd e 2
7K 3. e g e
X 4. 99 g

Question ID : 60092911309

Q.15 gea Y sifAemr farae srfaam &2
Ans X1.%ﬁ5ﬁ

X 2. 7dA

o 3. e Ty

X 4wl

Question ID : 60092911322




Q.16 Ferfta & e 1 Sra x4 far sram &2
Ans X 1. €. dawrl

X 2. meR

75 3.3

W 4. iz v i

Question ID : 60092911314

Q.17 wffier wfgen & wwed’ Py g & Sas @ &2
Ans X1

75 2. o= was

o 3. zfem

75 4. Rranfara fsy

Question ID : 60092911313

Q.18 39 & -1 FHUAR 1 Gk ATead ¢ 82
Ans X1 ufed

/X 2. sr@sr

X 3. gws

v R

Question ID : 60092911308

Q.19 wﬁmmﬂsmﬂmﬁaﬁwﬁwﬁﬁaﬂﬂ
Ans o 1 et ool st emeraT aa H Herl a
25 2. e R-aRRIE Ao 3 v & oz ohi e a

XS.QﬁgﬁzﬁamuTﬁﬁgﬁzﬁw%mtrﬁam
/X 4. ey 3 Forg gk Ao b v

Question ID : 60092911312

Q.20 gdHHEhRTe ST GERT ATH T &?
Ans X 1 dftrerer

o 2. s
#< 3. anfeprer
/X 4. snyfrherer

Question ID : 60092911316

Section : Discipline9




Q.1 fow=1 dfraf forg wfa Hr g?
AT el Tt =
foreft e A qu fraa €, ag oTg & st

Ans X1_§a;ﬁm
X 2. @R
X 3.%m
VS S

Question ID : 60092911330

Q.2 gerehierd ga =1 ufeedi & forerent avi= forar mar &2
"5 farg &g 7& fag wvrdh
Az gy fom ARt

Ans o 1. ufyueh & wey
75 2. 78 3R Hoel &
/X 3. %8R 3R s @
X 4 sfea @

Question ID : 60092911327

Q.3 #eRdt guf fi wfaar sfvar # fRd udies A =g o s g2
Ans B 1 arft

X 2w

K 3w

W 4 &=

Question ID: 60092911331

Q.4 AP ITHARTHH & WS T TE o TATSY|
Ans X 1. IRV, GXIUS, SICIEhIUS, SHEATRITS
W 2. TS, sriterERUs, sRvaETs, RRfSETs,

x 4. FARTRTS, TTTRIUS, FaxehIUS, STATTRIIS

Question ID : 60092911326

Q.5 €z &1 He ¥eT1 & Hue fra adf wentfa germ ur?
Ans X 11961

/X 2.1963

/X 3.1965

of 41064

Question ID : 60092911324




Q.6 1991 & RS FHR ATYR =t erut fFa wiar-dug & g & o wifger srepresft qReepR R
T™r?

Ans X 1 w2t afR areft g @
75 2. gediered
VER LT L
75 4 qudam

Question ID : 60092911329

Q.7 var v st f wfaar 'gagst & sier # frwer gofa v mar g2
Ans X" 1 fneft araTeienTer T

2. 7o srt el gz g

25 3. vt g & Ramd g

75 4. s qreh A

Question ID : 60092911333

Q.8 "fAam AT AT wre Heherd gRaR™ =g Sft A FiA- #t fRAfe F Prar?
Ans X 1 sga et B

/X 2. g % Y e &) g

o 3. A gerhioT &)

/X 4. 3R sTegeE 7

Question ID : 60092911328

Q.9 ud fi fAT hre-Ta=si @t 9 A & ey
Ans X" 1. TjoH, Ueerd, ST, G

f 2. ue, G, g, T

X 4. e, T, T,

Question ID : 60092911332

Q.10 o= & & R9-¢} Ter =T gReR™ T fY 1) &2
Ans x 1. Yepid Tt

X 2. TaRf

o 3. oemerE

/X 4 mgamen

Question ID : 60092911325




Q.11
Ans

Comprehension:
fAfafad sraarur At erryde ufey ok a9 Fwifera usil & fag g agfaeedt § @ wel e @t
g

TR 59 1 ol & foh SR Y& a1 HTeq TIRetg THT AT AT 81, forem 18 &6 geg, 7, Iior &
gerad iR iR Taew gERa gt ok §9RT UTsashA QT dT SReAT & UTSdshA WR STTUTRA 7 glee
BHRY 37O TiEhicieh TRFORIST U STaaehdIa ahT UM & | AR ATo1sT, YR

ey, R 22fF, YR o 3fk WRT THTSIITES @t 7 TaTaR T & 38 o1gT fretmerd d oy
T A AT A S+ oht 378 dfd T@e o g Tepfa & qah A Oft oht S feam & it et
Ul ot iR & @hael e 38T & | BF BRI TRORT & g1 9 ek sitae varg € fi gl 7y g | fadeft
ufyet =reat & offaR T A R 3= 'R & uroft oft sFeT 8k srfig § & ot § fRifda - ofik g
ST & S @S Sl T § | 3R sy Aphar 3 GTaER B 1 & Shed g 38 Y & 59 AT &t
BITUE, gt gl ST UehaT § |

SubQuestion No : 11

STDE & ITHR A& 1 AT W W & il g anfgg?
75 1. iifen e urewehn wdt el &
25 2. RO ot a7om 221 Y R STTeRTYiel 8t
Xs.ﬁa@mﬁaﬁ%ﬂ-ﬁ%ﬂmﬁmaﬂg‘r

W 4 SR ol & 7 & orod 23 & v Gae 8

Question ID : 60092911335

Comprehension:
frfafEa saaror &l eayde Ufer $ik Iu¢ T sl & iy g agfaemen # & @ fded &t
Bl

IR 39 9T <l & Toh AR R181T ot A€ R 9TST AT ATGHTST 81, [SeH T oh gad, A4, W10
gerad 3R 7efR e 7@Rd g 3R §HRT UeaehA JT dT SR & UTSdshA TR STUTR 7 glehs
R S1u+ft iepfren UReORTST Td srragehdraii et ufafafdia e | Rt e, YR

ST, TR &2, R & SR RATT THISIITE Pl §9 GaTuR I & 38 2 7 oy
I ¥ a1 R o &t 9 afd Taa g STET ST B
Uit et +ffeR T WikaelT R TET & | 59 AL OURT F g
gfet T2Al & g & & IR S19 R & wroft ot se ok
ST & e @1 Tedt T g | 3R sy Tl & adeR g
FIATEIE § gl ST HehelT & |

SubQuestion No : 12

Q.12 3y 7q farereat & @ I=-TT1 &1 a1 GaTATST 2Ueg;, 7E 27

Ans

X 1w
X 2. 3EHR
X 3

f 4w

Question ID : 60092911338




Comprehension:
fAfafad sraarur it ermyde ufey ok a9 Fwifera usil & fig g agfaeedt § @ @l fened @t
Bk

TR 59 1 ol & foh g Y& a1 Ao TIRelta THT AT AT 81, forem g & geg, 7, omor &
gerad o 7efiR Taew gERa gt ok §9RT UTsashA G dT SReAT & UTSdshA WR STTUTRA 7 glee
BHRY 37O+ TiEhiieh TRFORIST U STaachdIa ahT UM & | TR AToIaT, TR

ey, R 22f9, YR o 3fk WRT THTSITES @t g7 TaTaRk T & 38 o1gT fretmerd # oy
T A AT R S+ oht 378 dfd v@e gH g Sepfa & qah Agr Ofd oht S foam & it
Uil ot iR & @haeT e 38T & | BF AUER ORI & g1 9 ek sitae varg 9« R gl g g | fadeft
afyet =reat & offaR T A R 3= 'R & uroft oft sFeT 8k srfig § @ ot € fRifda - ofik g
ST & S @S St T § | 3R sy Aphar 3 GTaER 8 1 & Shed g 38 Y & 59 AT &t
BITE, gt gl ST UehaT § |

SubQuestion No : 13
Q.13 g% & SR e (R =t greaue =gt mar 82
Ans  BX 1 fRIfErd S SR ATET SieTel & ot Y @ @ gl e &
25 2. e o rezm HRAG TS A1 AT 8
7< 3. Riemsrs ol o7 @i &
o 4. SR Red ored T 2 ok Ry Tl & aER 81 & €7 AT

Question ID : 60092911337

Comprehension:
frfafEa saaror &l earyde Ufer $ik Iu¢ Tl sl & oy g agfaemen # & @ fded &t
Rl

TR 39 9T <l & Tk AR R181T ot A€ R 9TST AT ATGHTST 81, [SeH T oh gad, A4, W10
gerad R 1efR Taer 7@Rd g 3R §HRT UTSaehA G T STHREAT & UTSdshA TR STUTR 7 glehs
R S1u+ft iepforen URFORTST Ud sragehdraii et ufafafda e | Rt wrwredl, YR

ST, TR &2, R & SR YRATT THTSIME Pl 89 GaTuR I & 38 2 7 T
I ¥ a1 R o &t 9 dfd Taa g JIET ST B
Uit et +ffeR T WikaelT R TET & | 59 AL ORURT F g
gfet T2Al & Hfiar & & IR 19 R & wroft +ft se ok
ST & e @1 Tedt T g 1 3R sy Tl & adeR g
FIATEIE § gl ST HehelT & |

SubQuestion No : 14
Q.14 3 Tq o= o1 Tdia Mfar Ay

Ans  off 1 e @ e

25 2. R
X 3. T ok Rfer s

X 4. gpla

Question ID : 60092911339




Comprehension:
ffafad sraarur st erryde ufey ok a9 Fwifera usl & fag 1y agfaeedt d @ wel femeu @t
Bk

TR 59 1 ol & foh ST Y& a1 HTeq TIReita HTNT AT AT 81, forem 18 & geg, 7, Imor &
gerad o 7efiR Tadew gERa gt ok §9RT UTsashA G dT SReAT & UTSdshA WR STTUTRA 7 glee
BHRY STO- TiEhicieh TRFRIST U STTaaehdIaT ahT UM & | TR AToIsT, YR

ey, R 28fF, YR o 3fk WRT THTSITES @t 7 GaTaRk T & 38 orgT fretmerd d oy
T A AT A S+ oht 378 i v@e o g Sepfa & qah A Ofd oht S foam & it
Uil aht iR & @haeTT e 38T & | BF IER TRORT & g1 9 ek sitae varg 9 fi gl 1y g | fadef
afyet =reat & offaR T A R 3 'R & uroft oft sFeT 8k srofie § @ ot § fRifda - ofik g
ST & S @18 St T § | 3R sy Aphar 3 TaER B 1 & Shed g 38 Y & 59 AT &t
BITUE, 8t gl ST UehaT § |

SubQuestion No : 15
Q.15 faffa o9 ik "= s=ran & T gt & de o1 T FRUTTARTE |

Ans X' 1. Gaeh! U HH THSH & HROT
o 2. o & a2 3 Forg e ufiyeht RE T SR aRe & o
/< 3. R G & wHror
75 4. 3o R & sror

Question ID : 60092911336

Comprehension:

frfafea et st eamgde ufer Sk Iud T usi & iy 7 agfaemen A & g feed &t
Rl

B2 g3, & T T §, §HId-6HId Selrdl T g |

‘HATY §Y Y AT T &, JIO hl IO Bl ST =T &1
& 91d 1 & a1 +fiE i & HSTRT 6l 5, Jerdn T gl

T TR HgTent =0T fehell &1 SRR el & (=10 fohetT |
TR WR & HIF GIdTeRvl H, ST ST GHYT fehet |
Uit oh Uee IR Al et €, STeRT SRR fHerdr T | a

farfas oR er1 =i & ey e, TeT aie-t J Fehist Hehetd|
faftR afe 7 sg™ wear uTa a1, Feft Ad R TR ot T
N T A g R e WA, s T8 g, g mr gl
798 45, # g T gl

SubQuestion No : 16
Q.16 ahTeHien & hfa S @ T HA I g @I 8?7

Ans X1 f 3@ i g
V2 R AR
X s aR
7< 4.5 3@ wi wag

Question ID : 60092911341




Q.17

Ans

Comprehension:
frfafea sregisr @t earmydes ufey $fik Sed wwiftra usil & Ry 7 agfaeed & & g fdeey =t
R

7 B8 43, # TaT 71 §, §9Ta-g9Td Serdn T gl

"HATY §Y ! AAHT 2 8, JrOd chl IO Bl T X7 &1

s Td T & A1 g <kl & G g1 g, ferdn T gl

7 TR gaTent Fa=rur fhelt a1 Sl ahe & =T fonedt |
TR WR & HIF GTaTeRvl &, SRadT ST THyoT fohedt
Tepfd & Uee WR A qferent 9, et sHe fHemn g
farfasT iR er1 =0t @ A fierchl, Tier afert & TR feerd |
faftR afe 7 sgm wear g a1, deft A R u fY & T Terdt |
) T A g R et W F, 3w gt g, e man gl

798 13, § gaar T gl

SubQuestion No : 17
ahreisr @1 3 2fita gfag

1. 998 g5, & g T gl
v T g
/X 2. dlea Tl
/X 3. 8% W

4. B, § garn Tl
X 43 g

Question ID : 60092911345

Comprehension:
ffafad srreai ot ermyda ufey 8k Sud Twifaa sl & fig 1y sgfaenedt # @ wgl e @t
BN

7 8! 13, # TaraT T §, §9Id-paTd Selrdl T4 g
"HATY §Y ! AAHT G &, IOl chl IO Bl ST =T &1

s Td T &1 AT HiRg <hl F HSRT 81 g, gerdn T gl

T TR HgTent Fa=Iur fehelt &1 SrefienR ahdl & =T foneft
TR TR & HI GTaTeRvl §, $REdT SRar SHy fehet
Tepfd & Ued IR A qferel 9, TeRT SR fHern 1 g

faifas w o= = & e fercht, Tar gt & gkt Rderdt|
faftr afe 7 sgm wear uvra a1, et A R u fY & T SFerdt |
I T A g IR AT R F, o el g, g gl

798 93, § A T gl

SubQuestion No : 18

Q.18 hfa < =T 919 iR 82

Ans

X 1. R ) Foeifra e
X 2. Rl o gadfon
75 3. el e fareizror
o 4. freht & foreron & g

Question ID : 60092911343




Comprehension:
et sregisr @t eamyde ufey $fik Sed wwiftra usil & iy 7 agfaeed & & g fdeey =t
R

7 B8 73, # TaraT 741 §, §9Td-g 9T Sermdn T gl

"HATY §Y ! AAHT 2 8, JrO chl IO Bl T IR &1

s Td T & A1 g bl & SR g1 g, oferdn T gl

T WieR qaTent Fa=ror fohelt a1 Sl e & =T fonedt |
TR TR & HIA GTaTeRol &, SRaxdT Sar THyoT fohet
Tepfd & Uee IR i qferent 9, et s e mn g
farfasT iR er1 =t @ e fierchl, aier afert & IR fererd |
faftr afe 7 sgm wear uma @, deft A R Su fY & T Tt
) T A e R et wR A, w8l g, e mn gl

798 93, # gaar T gl

SubQuestion No : 19
Q.19 =fa 6 FAafa @ o fAwrma &2

Ans  off 1. o5 3 o g R € e R e &
X 2. for P gk o et
X 3. 75 30 o ot R
7< 4. 5 39 Sgd siew @1 o R T @

Question ID : 60092911342

Comprehension:
frfafad ety ot emydes ufey 8k STd Twifda s & fig 1y agfaenedt # @ wgl e &t
BN

7 3! 13, # TaraT T §, §9Id-paTd Sl 141 g
"HATG §Y ! AAHT G 8, I chl IO Bl ST =T &1

s 1A T &1 AT HiRg <hl & FSRT 81 g, gerdn T gl

T TR HgTent F=Iur fehelt &1 SrefienR ahdl & =T foneft
TR TR & HI GTaTeRvl §, $REdT ST SHyT fehet
Tepfd & Ued IR i qferet &, 3TeRT SR fHerm 1 g

faifas = o= =t & g fercht, Tar gt & gkt Rderdt|
faftr af 7 sgm wear uvra @1, et A R Su HY & T Serdt |
I T A g IR e R F, o el G, g gl

798 43, § gaar T gl

SubQuestion No : 20
Q.20 2y 7q fRheal & & F-T1 quT 1 AT o1 87

Ans X1 wrg
25 2. R
VAR
X 4w

Question ID : 60092911344

Section : Teaching Methodology




Q.1
Ans

Aifees fewfomi s 3agror 8l
51, iR
X 2.5
25 3.4 siwor
of 4 = Sadie

Question ID : 60092911353

Q.2
Ans

o "gFUGNT, HUHNT, AT ITAT e & w9 A& gRyfe forar mam &1
75 1. dfa
X 2. e =R

o 3. s

/X 4. 3aftgq

Question ID : 60092911352

Q.3

Ans

TEA T T SRR, SR, TSI IT HS 3T STAT] & ITHR Al ) Yeh ST ol AR
*U Q AT & Y &HdT &1 79 Fd15T|

X 1. DR
X 2. @7
/X 3. areraRon

o 4 aReem

Question ID : 60092911362

Q.4
Ans

I T 3HThel UTS chl FISTHT s & Ugel ST o gd 71+
X1 g
W 2 fw
/X 3. e

X 4 TS

Question ID : 60092911365

Q.5

Ans

31 foheawR 7 wH Rt IR UehrI | afiepa o, i ok usfamies, gwifaes, fRamenf@e sik
1

X 1. wARs
W 2 vrfs
X 3. @R
X 4.

Question ID : 60092911361




Q.6 ThHHT & i wgE affereor foiTfafeees whiver, sde whimer ik
Ans x 1. TereRd TIeT

o 2. e e

X 3. TRifEn @hmer

/X 4. ade Ehma

@

Question ID : 60092911351

Q.7 fFd ueR & wg-fAeror &, eraew Far ik wmen e ol & fAaf= v g« Rl 3@

&
Ans X 1. qze @R
o 2. TR TR
/X 3. TgrTs gg-Rieror
75 4. =t g

Question ID : 60092911348

Q.8 fohaehl @araii w1 IuaiT fRAfrerea o gr1 warifth & fAT uaer wden & fanfRa w1,

Ans “ 1. TET g STe
25 2. ifTH ot e &R
/X 3. wad qu e Hedie
75 4. e AT

Q.9 foiT 21z ugelt AR 1955 #
Ans  of 1 it e
7< 2. o argriieadht
X 3. SRR
25 4. e g

Question ID : 60092911357

Question ID : 60092911354

Q.10 NIOS =T gof wus =T 8?

Ans  off 1 Aema SiETe St oftum TR
25 2. Azt £ st wgferm
7% 3. 3fRa sfeam situ st
25 4. 3= S 9T it etk

Question ID : 60092911360




Q.11 th &Y IU-RIAA g, STUT SITHRTRY hT UdT T 3R STHBRRI Sl FHSAT
Ans X 1 die

X 2. it e

o 3. efn fnew

/X 4. 8fEn e

Question ID : 60092911350

Q.12 &l =T 3R e fafer & wu F oft s smar 1
Ans  of 1 doeR a5 i AU

X 2. srarge

/X 3. AR Aus

75 4. e aiRy2e A

Question ID : 60092911346

Q.13 gsfieft (UGC) o1 gof s = &2

Ans X' 1 gRw gicy i
o 2. 2R wica Fte
x 3. gfTA Tiey et
X 4. g8 vicy whiE

Question ID : 60092911358

Q.14 fem R weha fifa, 1986 7 FAReR sk U geaie
=TT IR &R fami

Ans X" 1. 3o mrefie
o 2. et
/X 3. mufae
/X 4. 3= wrafim

Question ID : 60092911356

Q.15 frd ST 3 avgfs usR fi adten iR sriaRe see & IuahT R a fear?
Ans X" 1. gfdae qupgher iR

/X 2. Fror sz

o 3. RER FE

75 4. e o e

Question ID : 60092911355




